WORKSHEET -1
CLASS-VII SUB-ENGLISH POEM-1 THE SQUIRREL
ANSWER THE FOLLOWING QUESTIONS (15M)
1. Fill in the blanks. (1 x 6)

a) is the poet of the poem ‘The Squirrel’.

b) and are rhyming words used in the poem.

c) The word “he” repeatedly used in the poem is a

d) The word “wore” in the poem is the past tense of the word

e) “We” in the poem refers to

f) “He sat straight to eat a nut.”

2. Make sentences. (1 x 5)

a) sat b) way c)around d)tease e)ran

3. Answer the following questions in around 40 words each. (2 x 2 = 4)

1.Why does the poet say that the squirrel wore a question mark for tail? (2)
2. How does the squirrel wore an overcoat of gray? (2)

4. Answer the following guestion in around 60 words each. (1 x5 =05)

The poem ‘The Squirrel’ is a beautiful example of nature at its best. Explain.



